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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidates should limit their answers to the

questions on the given answer sheet. No

additional (B) answer sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain the meaning of a “Partnership Deed”. Discuss

the rules which are applicable in the absence of the

partnership deed.

lk>snkjh lays[k dk vFkZ Li"V dhft,A lk>snkjh lays[k ds

vkHkko esa ykxw gksus okys fu;eksa dh foospuk dhft,A

2. What do you understand by shares ? State the types of

shares.

va'kksa ls vki D;k le>rs gSa \ va'kksa ds izdkj dks crkbZ;sA

3. Describe briefly the various methods of winding-up of

a company.

,d dEiuh ds lekiu dh fofHkUu i¼fr;ksa dk laf{kIr foospu

dhft,A
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4. What is Internal Reconstruction ? What accounting

entries are passed in the books of the companies at

the time of internal reconstruction ?

vkarfjd iqu£uekZ.k D;k gS \ vkarfjd iqu£uekZ.k ds le; dEifu;ksa

dh iqLrdksa esa D;k ys[ks fd;s tkrs gSa \

5. From the following balances draw up a Trading and

Profit & Loss Account and Balance sheet :

Particulars
Amount

(`)

P. Parikh Capital 20,000

Bank Overdraft 5,000

Machinery 13,400

Cash in Hand 1,000

Fixtures & fittings 5,500

Opening Stock 45,000

Bills Payable 7,000

Creditors 40,000

Debtors 63,000

Bills Receivable 5,000
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Purchases 50,000

Sales 1,29,000

Returns from customers 1,000

Returns creditors 1,100

Salaries 9,000

Manufacturing Wages 4,000

Commission and T.A. 5,500

Trade Expenses 1,500

Discount (Cr.) 4,000

Rent 2,200

The closing stock amounted to ` 52,000.

fuEufyf[kr 'ks"kksa ls ,d O;kikj vkSj ykHk&gkfu [kkrk vkSj vk£Fkd

fpëk cukb, %

 fooj.k
jkf'k

(`)

ih ikjh[k iw¡th 20,000

cSad vf/kfod"kZ 5,000

e'khujh 13,400
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gkFk esa udn 1,000

fQDLplZ ,oa fQfVaXl 5,500

vkjfEHkd jgfr;k 45,000

ns; fcy 7,000

ysunkj 40,000

nsunkj 63,000

izkI; fcy 5,000

Ø; 50,000

foØ; 1,29,000

xzkgdksa ls okilh 1,000

ysunkj dks okilh 1,100

osru 9,000

fuekZ.k etnwjh 4,000

deh'ku ,oa Vh-,- 5,500

O;kikj O;; 1,500

NwV 4,000

fdjk;k 2,200

vafre jgfr;k dh jkf'k ` 52,000A
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Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What do you mean by Joint Venture ? How is it

different from partnership ?

la;qDr m|e ls D;k vk'k; gS \ ;g lk>snkjh ls fdl izdkj fHkUu

gS \

2. What is meant by Hire Purchase System ?

fdjk;k Ø; iz.kkyh ls D;k rkRi;Z gS \

3. Differentiate between a branch and a department.

,d 'kk[kk vkSj ,d foHkkx ds chp varj crkb,A
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4. Aalip Ltd. Company issued 15,000 equity shares of

` 20 each, payable as follows :

`

On Application 4

On Allotment 4

On First Call 8

On Final Call 4

All these shares were subscribed and all money due

were received. Journalize these transactions in the

books of Aalip Ltd. Company.

vkfyi fyfeVsM dEiuh us 20 #i;s izR;sd ds 15,000 lerk

va'k tkjh fd,] ftudk Hkqxrku fuEukuqlkj fd;k tk,xk %

`

vkosnj ij 4

vkoaVu ij 4

izFke dkWy ij 8

vafre dkWy ij 4

bu lHkh 'ks;jksa dh lnL;rk ys yh xbZ vkSj cdk;k lkjk iSlk izkIr

dj fy;k x;kA bu ysu&nsuksa dks vkfyi fyfeVsM dEiuh dh

iqLrdksa esa tuZyhÏr dhft,A
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5. Explain the meaning of a “loss of profit policy”.

ßykHk gkfu uhfrÞ dk vFkZ Li"V dhft,A

6. Distinguish between operating lease and 'financial lease.

ifjpkyu iês vkSj foÙkh; iês ds chp varj crkb,A

7. State the objects of amalgamation of companies ?

dEifu;ksa ds ,dhdj.k ds mís';ksa dk o.kZu dhft,A

8. Write the circumstances for dissolution of the firm ?

QeZ ds fo?kVu dh ifjfLFkfr;k¡ fyf[k,A

**************


